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T 185,700
401 Al HIZL 201 221,000 411,020 A190,020
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= 4,800
Ea 11,200
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[Ea 24,500
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OUSuS0I8 nSAX XA 23,000

_256_




2A:

M S

M NSAHIA SESEHAH A=
e Uisws FUEe) g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sHEHA HLRSH 402,875 379,168 23,707
307 elztol & 402,875 379,168 23,707
09 2+ AELS 402,875 379,168 23,707
OSHEHA HLEQSH 424 402,875
BARs Jtes2 A2 AY 15,600 15,900 A300
= 4,680
o 10,920
307 @12t0| & 15,600 15,900 A300
== 4,680
o 10,920
09 2 AHEXS 15,600 15,900 A300
OHAIRE ez KA 15,600
< 4,680
s 10,920
ZABIS XIZ A 27,937 28,492 AbB5b
308 AHXIEMSOIE 27,937 28,492 AbB5b
1 SIS0t EAS A 27,937 28,492 555
OZY HAZEAAY AFMY RAES 27,937
wnES2E =M X2 A 8,600 9,400 A800
307 @12t01 & 8,600 9,400 A800
02 QB HANSEER 8,600 9,400 A800
OZH=28X M= XI&E 4,000
OUSAL olg BHC & FE2EL M=
=l X& 600
O=400LI2 M= X 4,000
BAl Ot Sdlg X3 A 3,432 3,718 N286
=S 1,030
s 2,402
307 21201 & 3,432 3,718 N286
< 1,030
[Ea 2,402
QO 2= HEXS 3,432 3,718 A286
O=HAl 2t Stz XIZ A 3,432
S 1,030
= 2,402
HES(HA A 2L 380,000 380,000 0
= 190,000
& 28,000
= 162,000
307 lztol & 380,000 380,000 0
= 190,000
< 28,000
[Ea 162,000

- 257 -




od
i’
oF
uJ

S S| S|S
._J.._u ) KIS Tol %)
Kio
E
E=)
8 8188 28188 288 818 818 S 8 S SN2
S S1k=aks! S(3|S S|3|S S|S SIS S S S oo |o
:._uﬁ% 888 B33 B2 8|8 Q1L & & &
(o]
L]
RIS
()3 O) I N©))
EEFEEEE B AR E B B BB BB BB EEEE EEEE EEEEE BEE
S TN ETS BRSNS SIBIB|B B|F|2|=2 23|88 S|/|] &~ ¥ P& 7 4@ E T A®
al
<
b=
W W o MW oW oW oo
oir
70
BJ
5
2 2] Gl Gl
g 3l oFJ olAE - =
= ol = vt wl
* 5 | % 5 2 - 5| |
=~ | @ 1 2% b 0 20 7|3 3 w| |¥
= =< =< B 3 o @r_u_ _,to|_.._ oJ - M.o
ol 30 30 o | 3 5|4 M0 i w | R T3 o | |RO
= |M0 o N 3l KO 1<k 0| " o o | D = |4 a3 <R
@ I._A_ = L.Alllﬂom.o _z_.=_D_x||._|_= ﬂaw 4E|Uw._ = MOM
v Rt = B DD Az |MP|0 o722 2 o 2o T3 o m = o |W|=
N ar RO 801 <o |y [0 Z |y |B0[B0 DRI skl 2P e Q0 R /| = | U0
= [on M U oo |W ST D Wlg T|S|or Doz D iy o |0 | A
.__.mo A_vwn_ﬁ W:. ._Mom;m._HA_o.dH._EwTuEH._?_oA_vD;j._ATMEMEATlTN o) o 10 Homm
RO fob 0 0 A:_oo___Aw%m___mammazogm_m_gMMga ol ~ ™ B0 [ R [Fo
= s © O sls Oltls|s Olols|s Ol ©Olals ©® 5 x O | |=
X < | 3| S 30 | & A < 0 & T =z |8
I+ ) = Mo B &

_258_



A ZHLSW

M NSAHIA SESEHAH A=
e Uisws FUEe) g (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
OHA=dE 2 AE 2SAL 689
SEHAEDE 29 72,360 69,120 3,240
307 elzto| & 72,360 69,120 3,240
0 2=EAHEX 72,360 69,120 3,240
OSSHAHLD !
2,010,000 1204 & %304 2 72,360
Sg8uss+H =g X 96,000 100,000 4,000
= 48,000
S 24,000
o 24,000
405 AtatE = 96,000 100,000 24,000
= 48,000
= 24,000
o 24,000
01 MHESFHS 96,000 100,000 24,000
OSEuS=H Tl N3 96,000
= 48,000
S 24,000
= 24,000
SEHQ A=At 2,547,500 1,552,500 995,000
2gH 2x K& 2,500,000 1,500,000 1,000,000
307 gl2to| & 2,500,000 1,500,000 1,000,000
QB 2=gHEXS 2,500,000 1,500,000 1,000,000
ORIE2x3 2,500,000
ASISE RIS 35,500 32,500 3,000
201 =3 32,500 32,500 0
01 At22t2l] 11,500 11,500 0
OXSxt - A& QIEAMA & HA 6,500
OXSxt el 3,000
OXtSxt 2el 2,000
02 S3=gHl 21,000 21,000 0
OoRER3 17,000
SAE 2208 |2t 4,000
202 04l 3,000 3,000
01 SLHoIH 3,000 3,000
OR=ZEEAE & 1,000
OXrSAtte| & 2,000
SSEXX 2¢ 12,000 20,000 /8,000
201 fer=2 3| 12,000 10,000 2,000
02 S3=gHl 12,000 10,000 2,000
O==28gi1X 3838 12,000
HY2EIH(I NS 45,240 45,240 0

- 25 -




od
i’
oF
uJ

(e} OO
A0
Klo
E
E=)
ABEE: 818 |RIR [EIEIEIEIE
LIL|I2|2 INEEN AN B8B83
H3r
W<
RIS
SISISIS S 8|88 8|88 E|E|E|2|E|E 8
sle|s|s 8 o|5|s s[V|Y ¥ |3|2|2|8|8 8
mrﬁ
<
=
iy
o
or om
X0 > o
Bl mmmv <0
: o
b ol
=3 =<
It 30
= __LE._MD
~ 30 Q0 X
= . oH S
2 s I 2 (IS
oF 3 _ | <0 1ol [
O I . K | K
E wW% mmm o m%%
= flE D S S|k El om0 &=
& oF 3 W05 |= 3 |- = ol |20 <k
RO = M0 |z |Fr #0|a |0k RO = |k of
3 ) e QRN KN o
o |

_260_




